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Level Up Your Korean: New Transcription Format
To enhance your Korean language learning experience, we've decided to provide more

authentic/original Korean transcripts starting from Lecture 18 (Unit 3) onwards. While
English romanization will still be included for reference, we encourage you to prioritize
reading and understanding the Korean script directly.

Here's a tip: Start slowly and gradually increase your reading speed. If you find it
challenging, we recommend reviewing your Hangeul lessons.

Remember, learning a new language takes time and effort. You can do it! Keep practicing
and stay motivated. o2& & 4 lo|Q! to[&l!

42| & (yeorebun), WFSHH|R. {Annyeonghaseyo.} FFIHA|R. Hl, 22| Fj, 7] 2E8F Fof| IFMA
QAER. 22Z (oreunjjok) Foll 1, QHd, YZ(oenjjok) Foll 1, {Qhd) . OK 4], £0I8. NPTEL
ATLEAIE QAL Two versions, F 7H], F 7F]. OK. Let’s go. QPasHA|L. (QhdatAla.} Qhd, (ohdy ohd.
OK 2= £ AZElQ. 25 5% 22| Ak4) 2}, Unit four gongbuhaeyo. AH(4) ZH Y R. Ak(4) 2} A Z0] Flof| 22
Eodie isseoyo? ©Jt]o] 9lo]2? OK. You remember that

& 4 P q A2
Unit4 .. sentence? A3 92l of2iE 7ot @? 13 92l oflo] Qloje?
W\‘oﬂ Country, country, {91} QQE0|, city HLtolof], & 1ITM ©f,

oic]o“ ?loi %‘ : WA Qlojg. A]F 22|= WA 9JojQ. I'll write here. A&

jigeum now A&, 22|& we £2]= 22]& you and 1 22|+,
gyosire 2] ¥ 9JoQ 9lo] R Gyosil is a classroom, right?

OK. A7 f2l& 24 312 okay.

Today we'll cover Speaking huh? Before we move on to the speaking two, we will do this exercise related
to grammar three and grammar four. What was grammar three and grammar four? Do you remember that?

7|LtR, 7191t ? Remember? Grammar three, ‘ol 7}, <ol 2k, okay, grammar three, ‘o 72, <o 2tQ",
okay, ‘| 718, ol 2k2 > Grammar four. You remember grammar four? Ap, dwi, yeop, okay. We usually put
after ‘¥ <o’ o]’ okay, ¥l 2¥oll, Foll, okay Foll £ot. 9ol goll, Floll, Fofl Thr] §H A2} (Qhof], F o, Hof:
Ao Aol Both sides is okay. U], $0IL.



(1) ¥, 23R 92| chjede chjee (1), 2
H ZA18. 22| 97] yeogi 97, 0] & °] & this 2
row, 0] 0] 8H= Ao okay? o] o] sje. 11 1) FF-E2 i 7HA. (/o) e
beon, i beon, sam beon, sa beon, o beon, 9 x77H01E  94Q. (o ol %
algesseoyo? 4, 0] &, okay, (1) ®, ©(2) H,

AG) W, AH) B, 9(5) 8 okay? 4, 2, O METHEL___F01E SRR cl/
JeE 1. 1, thie (ohese stae. ) 3F_ S e, el oM

stuod 7t} stuold zte, Stmol 7t’? 5) A ojcoj] 782
{Hakgyoe gayo.} Which one, which one? You P IS — '=9‘Q?7=Ei'r’3i’ il
are confused, right? Whatever you like, which 2

sounds more natural, 310 or 3twOl|A? {Stwol]} hakgyoe, BrotR, E2{Q7 glotQ Hh4 db4 Adlo]Q Sk o

7}8. Now tH20| dagachi, O] Tt 20| A2}, T2 otao] 718, okay TILE2 Staof] 78, «of 7t2. Why
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why huh? Here “©f’, ‘] means to, right? To school, 3t10]] 3t10]|, in Korean we put a location and place
noun first and then ‘O’ right? Particle ©l’, noun plus “Of’, 820)|. But in English, to preposition, to and
then a noun, okay? That is the difference, right? That is the difference, okay? 3t1o] 7}, A]2F (&twof 712}
OK when we use 7F2 and 22, usually the particle, location or place particle ‘Ol is followed by them, okay?
4], £0}82. So ‘o] 7I2’. They come together, okay? ‘O] 7}8, ‘o] 2k’  THA] SHH AJZ}, <of] 7}2/0]| 2k Q°. TIA|
SHH, <of] 7}2/0]] 2}2° okay. So here ‘O’ means to to in English, right? OK so the first meaning of “°||’ is, you
know, at or in, right? o] ]|, at.. I mean you know in, right? At or in, but here the second meaning second

meaning to to to to, right? To to to, to somewhere, to somewhere, at somewhere, in somewhere, to

somewhere. OK actually ‘©]” has several meanings and several usages according to the context, but the

common usages as a place or location particle is the first one is at or in, at or in, on, okay, the second usage
is to to here okay. 80| 7}Q, 8t o] 7tQ okay. £0tQ 4] £o}8.

U 22{H, o](2) ¥ 2 B8 of2{&. | beon chinguga, °](2) H, F ol Floll Flofl oto]2 4|2 FHoll. 2117} {F37t
Qo ke ) 3177 1] ke, TH9to| 8, bingo, Aol R. 10, why? 2R, 218 H={E? To to to okay, come
to India. That’s right. Q1=0f| 2kQ. ‘o] 22", <of| &k Q°, <] 7}2", got it? U], Zol 8 (majayo), E2 & (teullyeoyo)?
ol2|g, Zot. Zota. U, o Zote, FotQ. OK THEol, F7t Q1o eke, goj2. 357t Qlkof 2t8. (My

friend..} My friend comes to India. Or my friend is coming to India. My friend will come to India okay?
Depending on the context, okay, 0t 217} QIEof] k2. AJ2t 237} Qo of2 . §F ¥ ©f 237} (910

etQ .} OK Y], $ote. 23 A3) ¥ 3¥ 7, 31 31, of 27Ht 27Ht just a moment, just a moment okay.
2157} Q1] k2. OK we said this sentence. How about this sentence? How about this sentence? 2157}
271 QIEo|M 98 . Yes, just a minute. 227} 2137} Q& QIO R, QLoj|A 2tQ, okay? This one, you
know, I used ‘eseo’ here, right? After Indo, I put ‘eseo’. After Indo a noun, right? QI=O|A 2kQ. In this case,
what does that mean? QA=A k22 Yes, my friend is coming ‘from’ India. That's right. Here oA’ <of|q



means from, from, okay? OK £°}2. So ‘OlA’ “Ol|A’, we can use ‘Ol|A]’, like you know, at or in, on, but yeah,
sometimes from, okay, from too. From from, Of|A o|A], £o}2 Y| J2{H 21717} Q1T of k2 and 1717} QI Zof|A
2k2. You figured out the difference between *©f| and 9|A]” here, right? OK. £0t8. Q1= oj|A o8 t}zto|, X 37}
Aol 22, chinguga {AEOA 248 } okay, 77t YEOA ot Hgiole. I3 43) ¥, 34 31 334 1]
Holl {A2tstn gh=oj2 FH 2.} Ne which one? Yeah. You can fill in the gap and then read it again. || or
oA, METstn ASThst {o|A]} 2422 1 can’t hear you, I can’t hear you. {A2THSta §h=0| 2.} of]A], of
or %A, you have to choose. A2Tietn (A STjstuofA Ft2ojE FEFQ ) &Q, Tofe Zdfoje. Hiy,
NEUfst, what? Seouldachakgyo-eseo, TotQ, -olA. Agrigtmols Ftz2olE ZHsQ. |, Aol
A2t n oA gh=olE FHI|Q, Tot . Seouldachakgyo-eseo Hangugeoreul gongbuhaeyo. OFF Zgi&Lct.
A Ethgt oA gt=2olE FER. Why did we use eseo here? Because of gongbuhaeyo the specific action
verb here, right huh? So because of gongbuhaeyo. So A 2SR A t=o]§ FH Q. Y|, £0}2. IITM oj|A
SH2olE FEQ, ITM oA §H=olE Hi|9) 2, gongbuhaeyo or baewoyo. OK oA oA £oQ, 4],

3 o A4 ¥, 4 H ZA2. OK {240lA FotE B} Y] H}o]lQ, EF0J2? You are not confident?
Majasseoyo, Teullyeosseoyo? {Zfo]R.} 4|, Tgfo]Q. Ao} Hkp HRL IAtof|A GrotQ 22toA FatE
2o, 3t § o, FHoA Gt HHR. Geukjangeseo yeonghwareul bwayo. 23018, o2&, F4ofA], A
okay. Watching a movie at a cinema, right? Watching a movie at a cinema, right? =3ol|A] §&}= 22 The
action of watching a movie takes place now, right? Where, where, at a cinema, at a theater. So =70JJA], that
oflap, AELCE 23 2(5) H, 5 5H, 28] 5 AR [ am A, you are B. °|tjo] 7t22 (28J0jA] 718}
Eunhaengeseo gayo? 280 7122 What is your second thought? TH| TIA], 7L 712 9t Oh we have to
think of you know these verbs, right. {23§0]] 7}2.} That's right, okay, okay, very good. B4, U] Zglo|Q.
of=2|&, 28jof| 7t_ 2380] 712, okay 2889, of| of of] <of] 7}2°. Because here ‘e’ translates as to, right? To the
bank to the bank, okay? When you use 7} and 2}, o]l o] comes together with 7} and 2}8, okay? OK
how about 3J0]8, $012? When we use Y12/301LQ, which particle uh do we have to use? ol or A —
9loj2/g10]2? You remember that? <of]
2018’ or “of|A Q1018’2 That's right. Yes, \4"
ves OK. ol golarel gaar . ""“’-‘*x D ehge Sad e @ o) o
Aol <0 QlojQ/-of Qlo]R again let @ 4, o schel o of
me see. Noun, okay, location or place 2) ﬂ%7}i£_—_l_9‘}£' ©il/ 0")‘1)/ . O)zoid Q2
noun plus |, right? o] o], so we canuse o o 3) Netista oA st2oj2 %-‘?—vﬂa (o]f"o]])q)

this one with existence or presence @](nm — \ %o
verbs, 1 would say. OK so %9lojQ, 4) 3N BstE 2ta. (0“/ 0) ((j ok
gela/gelf,  okay  glelasglels, 5 A °1tl°ll 7187 ® —tsuilills

olQ/glojQ. So in this case, ‘-’ 154274315

D)



translates as at, on or in, okay? Here at, okay I would say just, you know, “at, in”, okay. So this is number
one and number two, what is number two? Number two number two meaning was ‘to’, right? To to to, in
this case, which verb? 78 okay 7}, &}8, that's right. Got it, got it? OK, okay. 72 2tQ, 7I8, «-of 7}8’,
o] 2}2°. What is the first one? ‘O] lojQ/glo|Q". <of gloj’. “of T}A] §HH AJZF first AJ2}, {of] }lojR, o
%o]2} OK and the second one. -0l 7}82/-0 2k’ OK very good. £°}8. This one *-°f| 310]2/810]Q° okay
‘of 7te/2tQ’. Fofg.

6) 2= 0l3__ 718, ©ll/ °IM)

£(6) Y. Yuk beon bwayo, Gl2|2. 6 H, A& A=, 22 §
7)BEANEFE__ 253 @/l

22jl 61, 64 82, 61 A7) Hol, Foke. 61, (A=
nj20] 712} @ Yot Belg olEwr Ao ste. 8 $RIE AT 4 Hola. el M)

grote, ghote, Zgoje Hh3 Jeoneun Miguge gayo, ) AN =0]8A_ 7te. @/ oA
0]=2o]] 7k2. Why huh? We can see 7}2 here and then

it translates as to America. to America, 0]=0]], 0]=0]|
7t8, nl=o] 71, Fot., A& nl=xof 7k8. Tt Zo] A3,
e ool 71, & ¥ o, & n]gof 71.. |, &gl .
A A7) |, 79 79, 22] 72 7] okay, 97| SHEAIR. 7H okay 7H o] 7H, (7)) ¥ 8 AR (X A&
39 ZYoM of 2E3l8 25002} Fote, E 22 Fot. HeM = FHoAM, K = FHold 25308, Totg.
92, 222 We can see this specific action verb, right? 252 2588 258, okay where, ZHNA

SHolA, at the park park 3Hol|A], £0tQ. F L M= FHoA 53l . okay. In the case of ‘9|4 location of a

10) A9 N7 25 222 99 |
A ZolgatE ute. (/o

place noun 9|4 9|4, something something, something something verb, which verb? Action verb, specific

action verb, specific action action happens, right? Specific action verb together, okay? &°}2. So

gongwoneseo undonghaeyo. ZHA 2582, U], £ol2, FHUN &5 2. Here, ZHoA 2532, Aol

22 B(8) ¥, 8 ¥, 2] Flof Flof 7ta. Foll, {¢2]= Y AFoA §2 Hola ) W, Fote, v] F3hz, o2 E.

Q2= sHAIGoA oA B2 Ho|_. 9122 HI2 HolQ  action okay, action takes place. Babeul meogeoyo,

HE HojQ okay, 92| SHYAITOA BF2 HolQ . OK. £ot.. SHIAITo||A, at school cafeteria, at a mess, at a
]

3
5}
canteen, SPIAIFOIA] H}-Z HojQ Ho|Q okay FoIL.

T2 3(9) ¥l Uri ibeoneneun yeopeuro galgeyo. 2.2, HO 2(yeopeuro), Holl Foll Foll, ©] you you, okay,
your turn, your turn, okay. It's okay. 7+(9) ¥ 9 ¥, {2 X< n]8Al0]| 712} 0]8Al0] or D] 840N, what did
she say? {°]]} Btot2 E2{Q73to}Q Zgo|g HhL GRIK|= 52 is going to a beauty salon or beaty parlor or
hair hair salon okay. SZIK= O] 8A0] 7}Q . Hairdresser’s, 5% A= 0|84l 712 712, o 71Q/-0 ¢}2. 2
Adola, Agela. J2fH 22] HEL 2 (jeojjogeuro) FOll, A17] over there. Foll Foll, Fota, Fl. A(10) H,
105 109, 218 17} o] (2| A7t 25 22] Aol 2.} 2, ]} A7t 25 £2] Hof eka. Zote, 3122 %ot e,

one more one more SfL} T, {Fo]A] Z20] G315 HtQ .} @ A¥o|Q . Perfect, wanbyeokaeyo Q. ofF



ZgiolQ. OK. Z|FK7E AAN 7} AFK7L 25 today today, $2] Al to my house, okay. Z|¥ is coming to my
house today, okay? Z|¥ is gonna come to my house today okay, 2]G¥|7} 25 2] ol &2, okay. Because
Notd ~.. Spefe | of 28, we use ol |, right? And then 3 J-lIA

6) A=10]Z2o 7t @/ olA) o ZollA oA, in my house, okay in my house
+o

AojlA 7ol Zo], 1 would say O] okay Zo|
7) AL K= QoA 25318, @/ olM) i
R = e 4 i together, 0] F8}2 B2 Uh we'll watch a
8) 21t T Aol wE ol el 9

movie together in my house, at my house in my
9) R3 K= o840 7HR. @/ AN

house okay. THA], Al(10) ¥ c} Zo] glojg &=
" H(du beon) 90|, cj21E. 2|HK7}t 2.5 $2] Flof
10) 2|F A7} 25 2] Aol oka. 7 b ot 710j4 2] JEIE B Al AW} o5
' 9230 2k (014 20| JsiE 2 | ole.
Hoj|A] o] g3t k. 2, Ao,

2 Y o] EAIR. 2222 &
R0l Foll Fota. Foll Fofl ol {Hakgyo} &2 (S oll} stu (Yo} Tote, EHL(teullyeoyo)?

2ot (majayo), 5ol 8, Agfloj H4 22 5ty o) 9lojQ. Ap actually you know ¥ means the front, right?

2 {gta g} &2 2] 0fo]3 oft] §loj2? o§7] of7] nto] 3 Q|2 Foll(yeope)

Ap means the front. But ape ape means what? In front of, in front of, okay? So in front of the school, Sta
]|, In front of the school, in front of the school is hakgyo ape. &1 ¥of| JlojQ, £2 stw Qo QlojQ. Y]
Adlojg 22 5y 9o gloj2, QlojQ loj2/Qlo] ], of Qlo]Q/ of] §le Q. Joneun hakgyo ape isseoyo. &2 OT]o]|
Q0122 & ¢of| )loJL. John is in front of the school okay? So this sentence indicates the presence, existence
of John. Right there, in front of the school right? 4], £otQ. A (7) H 7®, & Fol| Fof|, 2= oz H=,
{Keopisyobi eodie isseoyo?} U, #T|&o] ojr]o] QlojQ? Au|&L2? (FHu|&L2..} Aha which one? {F|..} We
have different sentence order from English sentence order, right? ¥ Flof| or F ®HHol? {¥¥ Foll} HY,
FTE2) ATEL, (HY FHoll loj8. ) Y], Wtola. vk B Fof Q1o Q. OK behind the hospital, at the back
of a hospital okay? Y], £°}8. This is our word order in Korean, right? ¥¥, noun first and then, o] Flo]],
okay. Noun first and then, F|°|. But English ) 2o 018, (3t goll/ &2 goil)

word order is like, you know, o] first and

o . : : 7) A #T|&o] ojcioj] glojQa?
then, B¥ right uh? Behind behind first, and = 2
cErs BAHIAL 9108, (3 ol 51 §ell)

then, hospital okay? But our word order and

your language word order is different, right? 8) A 22| A= HEE]

Ne yes, okay. Same same word order as, you 95 ol "
. ST B B DTTE.]7}.— MO'I-Q-

know, ours, right? Ne Hindi, ¥ot8, oj2{&? A AREL] 30A} oloj Q.

You say it like this way? Ne okay. And other B HEE, 4, H, 9c?)

languages? Tamil, Malayalam, Telugu, A_(Z39 %)

majayo? Ne ne, same same. £20}Q £30}Q. o) 2200/4315




Same means FZ0}FR ttokgatayo, 2ot U, Agoj2. A2 B FHojl gloj.. thA] 3H, Am|&2 e Fo]
goje. OK Y, T(8) H <t 8 ¥ 81, 0J7] X|Z 8 W, gireoyo, 0|2 70|82 Z0|8, long long long long, 208
70|2. 4|, A A, you have to think of the context here, okay uh? 92| @AOJ|= this is our gyosil, $2| 24, our
gyosil, my classroom, okay our classroom. 92| ZAlof= 92| wAlol= AFE7L, oh I said computer, AFE7}
QlojQ grote ZAglo]Q mlo]3 ofr] QlojR? 9o 2 gFof| Qo] 4|2, okay. Say it the first sentence. 22| ZAol=
(22| FAofl= HAFE7} QlojQ.} Wow so clear, baksu. You know, he said with his confidence, right? Very
confidently I mean AH:l QA jasinitge. o, BZ10] 2 (malhaesseoyo), 20| (jalhaesseoyo), A3Ho|Q. 22
A= AFEZF 9JojQ. And then next, next sentence. 2ol &oll, AFEZF AFEL, this is a little bit tricky
because you need to think of, you know, the other sentences as well, okay? {FFE7} oJt]o] Qloj27} 2,
ghote EoQ of=jB9odlotg uipuki @ Adlolg ZgHojQ Y| how did you get your answer? Explain uh
haha, what? {...} Natural. Oh you you've already got, you know, Korean sense and sensitivity, uh naturally
okay very good joayo. FTE7} o]t]o]] 1o} 22 Because you know, you can see the answer of A here, right?

A 4012 so you can ask you know OT|ol| where where is it okay? Y|, ot A, A}, okay, 4. o]l
of, (AR} AN AARY ABAL AL ALY ALY dhotQ (L fJok. ?Joj2} OK similar similar uh similar
pronunciation. {$]°]]...} 2, $]of }lo} 2. On top of the desk, okay, on top of the desk, here right? A8 BA}
210 gloje. A A 9lof Qloje. Fotg, Q2] J=jH, Zo] glojQ. 97|7HA] so far, okay. Gachi ilgeoyo. Till
now, so far. 20| 9|8, I am A, you are B. $2| 2loll= AFE7I AFE7I Jol8. Your turn, AFE7F HFE7t
ojtjofl 3loje? of A A flofl glole. AAE A 910l 3ol A is a teacher, right? AE AEH A,
this is my desk, right? My desk here, my desk, 24 919]], it is it is on the top of the teacher's desk, okay?
AABC] A 90]) 9101 Q. OK and then, next one next one. Wow, we have several clues here. You have to create
a sentence, okay? A full sentence in Korean. AREH, you can use AFE, G B, 9} 9t} is a basic dictionary
form, okay? You have to conjugate, okay? You have to conjugate according to the meaning and the sentence
style, okay? Y|, £0}8, let's go, let's go. {AFE7F Foll H7T 0] 2} THA] $HA ThA] SHH, 3], AFE, THA],
ZAFE, Yot drotQ ThA] AFE 2 A2|2 2 A2|2, in a loud voice, very good, very good. You are doing
very well, okay. TFA] AJ2H (AFE]7} Fojl §7} Qlej 22} Keompyuteoga yeope or keompyuteo yeope? {FHE
Foll} That’s right, because you know, we have 7}, right? 7} #7} is a subject here, okay. 4], Z3io]Q 84,
ot, 4% Aglol e, 17 230l R, okay. U], AFE Foll AFE Foll F7t H7t 3lol 22 AFE Hol beside a computer,
beside a computer, or next to the computer. ZAFE Fof| F7} 1o Q2 o] AFE Fofl H7t gloj 2 Holl, FHoll 7t
o122 H7t Joje? F7t olQ, of2E? Gongchack and yeonpil, okay? Here, &%(gongchaek) and
8 (yeonpil), 28 and P, 7FE) ol Bt ol (EH Fol B3 BskL FY ol2 ) @, Wole w4,
8t ¥ §, han beon deo, ¥ T, slowly and clearly, & £2]2 in a louder voice. {FE Fol 34 FH5ty HL
Sola.} HE go] Bk Aol o1, Very good. OK, 015 HoIR. 84, of, o} H3ole, ofzi, 2

42| 2 (keun soriro) B4 X HA|Q oo} Zglo]Q AdhHo|Q AFE Hol|, but I just you know omitted HFE Foll,



o 5 7ARE gol 3sR-kL and o] Yole. Or

6) 22 & 99 glojQ, ("}1@/ |/ 82 GoilA) you can also say FFE Fojl 345} ATo] qlojQ.
Ly OK 345t 2 o] glo}R. Or ZHH ol FHstn
7) A #5]§0] ofc|d] Glofa? @do] Qloj”. Very good, very good. OFF Agfio|Q.

B #Hul4-2 8 F10 9lojR. (59 5ol 51w

A 22| JAo= HEEZLGl018.
“EP}ELMLASL’

A N A} 2J0] 9lof

%EI ‘& &, ‘RCF’)

34 23 notebook, FE pencil pencil, AE,
S5t 1 Aol QlojQ. Now you are A, I am B.
OK, let's go. A2}, {22] 2Aoll= ZHAFEglol.

AFE7L ofc]of gloj Q2 AFEZL (A A} Qo
Adoig.} of AFE Foll AFE Foll H7t lole?
{FFE} 345t AHo] 9loj, Y] A5t Ao

ol of AL, L,

19 223/ 4315

OK it’s time to move on malhagi two, speaking two okay, let’s see. “AE|2 ¥|, ofc|of] 7122 Fgto]| 7t 21717}
gh3of ete . £2| A= oftlof 722 £AIZofl 7t.. fA=0] oft]of Qloj 87 §H=-28] Lot a2 §H=- 28] Qo 9loj
u), & ¥ o, “AE|2 K, oft]o]| 7}2? Jgol| 712, 37t gh=xofl ke, E2|Y M& oftio] 7t_? fA|F] 7tL.
Aol ofcfof gloja? gh=-28) 2ota? §H= 28] 9ff gloj e OK FotL, of2|E. Wof 27 o714 o7]A let's

read, let's read line by line. First line let's go.
o A2, AE|2 &, oft]of] 7t2? Repeat after me.

AE[E B8 72, A7t 330 22, iE]% ML o.ltloﬂ 7]._9_.7 {iE]% ML 01]:]01] 7]._8_9}

F212 W ofcif 7122 N .
Second line. 3@l 78, 38 is an airport. I'm

g% of 72, )
going to an airport. Gonghange gayo. 177}

B 0] ofcjof 2027

2210} o127 of 91012 iﬂ-ioﬂ 2}'9' }\]74., %Liso}oﬂ 7]--9- Chinguga

Hanguge wayo. Z2|Y A+ ot|o] 7182 22|¢

R oftlof] 7182 OK. $AIZol 712, LA|3

712, A2, post office. A= 719,

QA|Zo] oft]o] QlojQ? Uchegugi eodie isseoyo? $t=28 LofQ?
gH223 &o}Q9 g ¥ O, Hangugeunhaeng arayo? St=288 gotQ.
to Korea, Where are you going, Julian? gt 238, oft|o? glojof, grojof e, Folofl_? gFoll, Fot8. g2 9

R i o 5.t pcit iR, glol g, §H=-238 ghof| Qoo | Aol Q. §F=-23) LotR? Arayo, alda,
PO s & i it &t} to know, ZTt Lr} -0t -0k2/012/3 2 okay? ¥otL, got it? U]

Julian Do you know Hankuk Bank? It is in front of S"Hi}o]'-g-? OH:]"O}OI'-Q-- }‘]7\]’ o]-]:]._o]-o]._g_ OH:]"O}O}—Q- O}E}'O}O}—Q-

Juliar Steven, where are you going?

Steven 1am going to the airport, My friend is coming

Hankuk Bank, okay. Do you know $t=288? Hanguk bank? It is in front of $t=288,
Zo}Q, ofF Aglo]Q. Let’s see our English version okay. OK I will

say English and then you say Korean okay? You are the interpreter



now huh? Steven, where are you going? AEJE, (0]t] 729} oft]o]] 7}2? [ am going to the airport, 2]l
7}Q. My friend is coming to Korea, 21717} $t20]] 2}2 . Where are you going, Julian? &2|¥ X|= ofc]of 7}27
I am going to the post office, 4|79l 7t2. Where is the post office? $A|=0] o|t]|of| 1o} 22 Do you know
Hanguk bank? §H=+28 &otQ7 It is in front of Hanguk bank, 3t=-28) ¢of] glojQ, 32288 9k Qlojg. @
Agola. o= @

E58! 2151| (Speaking) 2

\gs
Let's have more practice about this okay. @(1)

@ * A2 A, el 7ter |
M2 (g3 7he. 2177} g3 ota |

QA2 (ucheguk), $A|=. This is ucheguk. $4Z0] 22} W= ofc]o] 7ta7?
eh 28 3h 28] dotg, of2{E, R 9 $4=0] 7t L.
%oll(ape), $H=-238 ool ekl eoll, Floll(dwie), Fell, 7| 30] ofe]oj| gloja?
T} o] A2}, bofl Flofl Foll(yeope), § ¥ H, %] | 2°orf?
Flofl goll, Fot L, A3ola. 22 U(1) ¥ Foig,
92| Qi goln. 23 ol(2) ¥ 2 712, R, ol(2) \{*\ or5}7| (Speaking) 2
H let's look at i beon. No. two, 2H 2H HQ o] =
(2) ¥, 0] 84 (miyongsil) ] 084, we are going to ® i |A}:E 5, qtl(i“ e |
’ ’ N2 | 230l 7k 2177} §H3o oka
miyongsil. DO]8Ao] 7}2, O]l84 You know 22} R ofc]o) 7t 7
miyongsil. ]840l 712, n]8Alo] Q. n|84lo] vl ID]%'\EIOI] 7te.
ojtjof gloje? mjgio] oftjofl Slojg, of2E? 3
5L byeongwon is a hospital okay, SH-PH¥
{Fll} That's right. Bl Foll Fofl Qloj2. Sh-PHY SRR
Lot shpEe Fota? shigd Foll gloj.. shbge Fota? shigd Aol gloj.. H] ot2 okay. I am Surya.
You are Shamu. Let's go. AF2 4], oft]of] 7122 {F3}o] 7t.. 3177} gh=of ete. 22f K= oft]of] 7122} ]840
7t8, n]g4do) 7t {m]-8Ado] ojt]of glojQ 2} of shLgel Lot ? shbEd Yot ? ShpEd Foll 3loi8. Foll next
to SPLHHSY, next to Hana hospital. OK. SPLPHE Fof gloje. @ Zglolg.

\;’f;:’)\ ot5}7| (Speaking) 2 22 A3) ¥, 31 7k, 31 3. Sam beon eodie

-

Y-

1 W, okay you see here, right? QA=

® a2t |A‘FE K], ofc]oj] 7}a.? | gayo? Oft|o]] 7t2 3 ®#? TiAt embassy embassy
A2 (g0l 7}, 2177} 3H2o] 2t AR TAREO] 7, ThAb]l 7kR. OK. Daesagwane

22} R| = ofc]of] 7}9.?
B |EHA]-3\L_}0]] 719,

gayo. TiAREo] oftjof gloj 22 thAtgto] oftiof glofg? of

HEWsld,  Myeongdong-baekwajeom, — HiS}H

department store, big mall, okay? T§EHIE}
5 a} 5100 3lol. 510l dwie 5100 Slol, SIS

Db s Hof glo]2. OK. I am Surya. You are Shamu. AF2 A],




olcjol 7t2? (ol 7t2. 347t F=ofl k.. £2f A= oft]of 7122} A& A7 thAttel] 7ta. (ThAtHo] otjo]
Q0]Q7} HEHSIAH Lot? HEHsLY Fof QlojQ. Now let’s change our roles okay? You are Surya. I am
Shamu. A2}, {(AFR K, oft] 7t22} 3] 7. 37} 3= e, f2f K= ofrjof] 7t_? (thAtgtd] 7t}
tiatgo] oftof] gloje? (HEulshd Fote9 WEulskA of 9lojR.} T 29| this one, let’s practice more.
H- 5151 2ot 2?2 Myeongdong-baekwajeom dwie isseoyo. S T, -5 H5HH ot Q7 B 5HIEHY Fof glojQ.

3 o, 5k 2ota? 35 ek Slof Slol2. T 1388 cheoncheonhi, AR, B5aH ot 5wty

O 5| (Speak ! Hol Qloj, Fef glole. OK. Hgol. 13 A4)H 4 ¥
?i:"‘) 4¥ BN|Q. 4H 4H 4 ¥ where are we going? ©]t]o]|
@ T [A= A, ofclol 7tar | 7t cfeig? 07| o7 ofJet A1l A, obet Al A, This
N2 | 330 72, 2177} 8k 9—]'-9-1 is jip, right? House jip, o712} & 3, 3of 3ol 7t8,

i i, A [ oI el 7k ot Al e ofchl ol seou

o ?} gongwon Fo| o glolg. Pl Fo HL3Y P

c71=t A el el St olQ. Y|, FotQ. Let's try. You are Surya. I am

b Shamu okay? AJ%}, {2 A, ofclo] 7122} o 2]

b 0o s - I 7tR. 2771 2o ¢tQ. 42} W= ojciol 7k2 (o}7z}
Hul 300 712. o712k 4] o] ofelel glolR? (4 43 Lot? 43 Pl gola.} Tote. HE3Y Yotar
ANE3d Foll Qojg. i A2, A3 Fote? A3 ol Jloj|. 3t ¥ o, M3 Lote? A3 49
Yol2. NE3Y Foll Fofl Jloj8. OK. Egfoig, 2|8,
o YR Aol o5 of2|E. 2|t ol iy E 42|72
2r5 Q. Fofl X1of|A| Qe . ZZAcE Ak, A3
chingchan 8. 33t 2%, 23fo] Aol of Zo]
o] Zo|. Y|, of2jR, YFYF AFoja. 5L ot
Ao} Q  Thank you for your good work. OK. £2]
13 Al Eopxe. v ZARICE (ZARCH)

ohgs] 7HHIR. {Qhds] AR}




